This file has been cleaned of potential threats.

To view the reconstructed contents, please SCROLL DOWN to next page.



1S \' INSTITUTE FOR PLASMA RESEARCH (EEESSR\
YT .

An Aided Institute of Department of Atomic Energy,
Government of India

sfeeT g & UTH, 8T, ENTIR - 382 428 R NEAR INDIRA BRIDGE, BHAT
.?079) 2396 2020/2021/2028 DIST. GANDHINAGAR - 382 428 (INDIA)

7: (079) - Phone: (079) 2396 2020/2021/2028
b 91-079-23962277 Fax :91-079-23962277

a9 www.ipr.res.in Web : www.ipr.res.in
ENQUIRY
ENQUIRY NO : IPR/EQL/18-19/149
Date : 06-08-2018
Due on : 06-09-2018 by 1:00 PM IST

Please send your offer in sealed envelope specifying Enquiry No, Date & Due Date, ALONG
WITH your credentials for the following items:

Important Note:

Please note that e-mail quotations are not acceptable however you may send your queries (if
any) to localpurchase@ipr.res.in

Please ensure your sealed quotation reaches this office not later than above mentioned due
date and time.

Kindly go through the following documents properly before quoting which are available on the
IPR web portal i.e., http://www.ipr.res.in/documents/tender _terms.html / attached herewith.

1) Instructions to the bidders & Terms and conditions (refer Form No: IPR-LP-01.V4)

2) Bidding format
GST for Goods and Services (IGST/CGST/SGST TAX BENEFITS): Please refer clause no: 8
of Form No: IPR-LP-01.V4

QUOTATION SHOULD BE ADDRESSED TO PURCHASE OFFICER ONLY

Sr . .
No Description Quantity
1 [Subrack-6U X 84HP X 235-240D mm 5.0 Nos.
2 |sub rack-6U X 84HP X 280-300D mm 5.0 Nos.
3 |sub rack-6U X 84HP X 160-180D mm 5.0 Nos.
4 |PIU 6U 10 T 160-170mm D with SIDE-VENT(perforation) 10.0 Nos.
5 |PIU 6U 14 T 160-170mm D with SIDE-VENT(perforation) 10.0 Nos.
Note: -
Encl: As per attachment. Sd/-
Mr. D. Ramesh

Purchase Officer-II

Information to Vendors: We are working towards a single platform for our future
requirement. Hence, please refer IPR website i.e,

PDF processed with CutePDF evaluation edition www.CutePDF.com




http://www.ipr.res.in/documents/tenderseng.html for our future requirement.




/

.

Technical Comgliance form for Sub rack and plug in module

A.Subrack-6U X 84HP X 235-240D mm (quantity: 5) with following
accessories

Sr. IPR Requirement Vendor Specifications
No. Item Description Qty.
)
1. | SIDE PANEL F 6U 235-240mmD
1
2.
19"BRACKET 6U W.HDL 2PCS
2
3. | FRONT HANDLE ALU 6/9U CLEAR
1
4l
SCREW CSK. M5X12 (4PCS)
2
5-
HORIZ.RAIL FRONT 84HP/T H SL
2
6! *
HORIZ.RAIL REAR 84HP/T H ST
1
7.
HORIZ.RAIL CENTER 84HP/T ST
8. | THREADED INSERT 84HP/T M2.5 3
SCREW TORX | 0.2
9. | PAN.M4X14MM(100PC)
10 GUIDE RAIL KIT Depth >140 mm; 1
*| 10PCS
11, | COVER PLATE 84HP/T :
REAR PANEL 6U 84HP/T PRE-ANOD. 1
12.| INCLSV. FIXING KIT

B.Subrack-6U X 84HP X 280-300 mm (quantity: 5) with following
accessories

Sr.
No.

IPR Requirement

Vendor Specifications

Item Description

Qty.

1.

SIDE PANEL F 6U 280-300Dmm

PDF processed with CutePDF evaluation edition www.CutePDF.com




1
2l
19"BRACKET 6U W.HDL 2PCS
y 2
3. | FRONT HANDLE ALU 6/9U CLEAR
1
4,
SCREW CSK. M5X12 (4PCS)
‘ 2
5.
HORIZ.RAIL FRONT 84HP/T H SL
2
6-
HORIZ.RAIL REAR 84HP/T H ST
1
7l
HORIZ.RAIL CENTER 84HP/T ST
g. | THREADED INSERT 84HP/T M2.5 5
SCREW TORX | 0.2
9. | PAN.M4X14MM(100PC)
10 GUIDE RAIL KIT Depth >140 mm; 1
*| 10PCS '
11, | COVER PLATE 84HP/T :
REAR PANEL 6U 84HP/T PRE-ANOD. 1
12.| INCLSV. FIXING KIT

C. Subrack-6U X 84HP X 160-180D mm (quantity: 5) with following
accessories

Sr. IPR Requirement Vendor Specifications
No. Item Description Qty.
: 2
1. | SIDE PANEL F 6U 160-180D
1
2I !
19"BRACKET 6U W.HDL 2PCS
2
3. | FRONT HANDLE ALU 6/9U CLEAR
1
4l
SCREW CSK. M5X12 (4PCS)
2
5l
HORIZ.RAIL FRONT 84HP/T H SL




2
6.
HORIZ.RAIL REAR 84HP/T H ST
1
7.
HORIZ.RAIL CENTER 84HP/T ST
8. | THREADED INSERT 84HP/T M2.5 5
SCREW TORX | 0.2
9. | PAN.M4X14MM(100PC)
10, | GYIDE RAIL KIT Depth >140 mm; 1
" | 10PCS
1
11, | COVER PLATE
REAR PANEL 6U 84HP/T PRE-ANOD. | 1
12.] INCLSV. FIXING KIT

D. Plug in modules (Quantity 10 each)

Sr.
No.

IPR specifications

Vendor specifications

1

PIU 6U 10 T 160-170mm D , unshielded
with accessories

1.Plain Top & Bottom Cover

2. Rear cut-out

3 Side panel with cooling fins/ventilation
slot(With perforation)

Quantity:10 nos.

PIU 6U 14 T 160-170mm D, unshielded
with accessories.

1.Plain Top & Bottom Cover

2.Rear cut out

3 Side panel with cooling fins/ventilation
slot(With perforation)

Quantity:10 nos.




